2-5 J570%S L RIRHEE IRSVEW:

1
[1] XD 2 REBD Y5 7 % M / \ [2] 2 RBIE y=22"—32x+4 DI T T %, xBHHENC 2, yEIAHEIC -3 ZFFTBETS L
1) yzészx @) =R r—? 3 FEEE) X, BEBROKMROFERE KD &,
L L33 e X737 igael
0§ L) {»-? ¢ 2 4 P
-y oo s g T
.AZ—?(%*L)JEJ ‘El.(.g :3(i’3')2_ 3(9L~2>—\‘(* Ld UQQ’ L& )% t
2 —
H* sy -2 43 . }(?Ll_ﬂ((x+%\f3(9\f-l> LR B 4 g SRS}
_ /FU/ ) _ to 1
: 3 al (7: 2%“89“'8—3"‘*(7'% 5
A 7- J(a-?)
( — = -
v L2 3: 25{2—(19lflt )_L&//,,———*
/_/__)
PR y=3x"+x—4 & 2 BAIAIC 1, yEEAAIC —2 2 ETRETL L%, BEEOD
) %: DTS B R & R &
— o« — | \
(2 €1 (-2)~0 A % 9(4 , 1P BIS 74
{
Cl: Ty v 2 Li‘ &a

Ga2 = 3(am) (-1 ~F
Jt2 = 3Pl ) * (D¢

(=32 pacsta-l-1 2

}]; 39— 57 -4

/




2-5 U5 7DEIHLFETHRHHE

HEBUFRE BRI 3, yEHAMIC —2 2T ETREIL 2L X, BEROBWIIRD A
BRIX y=22>—5x+1 THo7%, & LDOBWHROFEREREZRD &,

o b3k ~3 (&b IR 2

T4TH % Tre. Fua HEDID < 72,
{— £t3
1 4-2

\%__3_ :1(1—r2)2’{5('l'f3>_k \ %:2@2{7%‘(‘6
(1= 1(11+€<1t® it

= 25114[2‘1 fl&’ba’lg* 42

HAR y=—2*+2x+6 &, xBHAIC a, yEIHEIC a® 21 PATHE L 72 BARHIE R
2L L X, a DEERD L,

Lo 9(’& (Th2e3 3

i
9( Q‘)-él(sl &)Jcé

[ ¢ }3\152\2\

Q__C'

= (9L 0K Q@ )*2‘1 jat 6
2
Efc —3 201 — @ 9120 bro

CJ5

G0 -9+ (2040 046

<SHDIYMNZY >

Ve




